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Complete the graphic organizer. Label the legs and the hypotenuse.

Draw a vight avngle Sy;bo\ ow the vighi-. A;P

hypotenuse

Side

B Measure each side of the vight triangle amd write
your measuvements in the table velow.

Length (cm)

6 cm 2
8cm

10cm




e (Goi- I+? Do these problems to find out.

chk_

yes; 36° + : . I : .
4 482 = 602 Determine whether each triangle with sides of given lengths is a
’ right triangle. Justify your answer.
Z d. 36 mi, 48 mi, 60 mi e. 4ft, 7ft,5ft

ca2 4 52 L 92 :
e.No; 42 +52+£7 y\

Guided|Practice

Write an equation you could use to find the length of the missing side of each
right triangle. Then find the missing length. Round to the nearest tenth if
necessary. (bamplesand2)

1. 122+162=c%20m 2. 1002 + 2002 = ¢%; 223.6 mm
@D» 16m

yowy

cmm
100 mm
s 12m

200 mm




Determine whether each triangle with sides of given
lengths is a right triangle. Justify your answer. (cmple )

3. 5in, 10in, 12in, M0; 5% + 102 # 122
4. 9m, 40 m, 41 m Yes: 9% +40%=412

5 @ Building on the Essential Question What is the
relationship among the legs and the hypotenuse of a
right triangle?

The sum of the squares of the lengths of the legs is

equal to the square of the length of the hypotenuse.

414 Chapter 5 Triangles and the Pythagorean Theorem
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using the Pythagorean
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that applies.
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Write an equation you could use to find the length of the missing side of
each right triangle. Then find the missing length. Round to the nearest
tenth if necessary. (famplestand2)

1. 52+12?=c%13in. 9, a*+51°=60%31.6yd 3, 82+b6%=18%16.1m
- ‘ 51 yd bm
- 60 yd 8
12in. ‘ = 18m
|

Determine whether each triangle with sides of given lengths is a right
triangle. Justify your answer. (fample )

4. 28yd, 195 yd, 197 yd ¥30cm, 122¢cm, 125 cm
yes; 282 + 1952 = 1972 no; 302 + 1222 # 1252



: 365 mi
6. Calculate the length of the diagonal of the state of Wyoming. ' :

]
about 457 mi

:
TWY .IGw‘ 275
B i

1

Write an equation you could use to find the length of the missing side of each
right triangle. Then find the missing length. Round to the nearest tenth if
necessary.

¥ a=48yd;b=55yd ' 8. a=23in;b=18in. 9. b=51m;c=123m
482 + 552=¢? 73 yd 2324+ 182 =¢%29.2in. | a’+5.1%2=12.3%11.2m
[
| |



10. t@.}} Use Math Tools The whole numbers 3, 4, and 5 are

called Pythagorean triples because they satisfy the
Pythagorean Theorem. Complete the graphic organizer
shown to list 4 additional sets of Pythagorean triples.

Pythagerean Triples
3 4 S
[4 8 10 4
9 12 15
e 12 | I3
8 s { |7 J

@ H.O.T. Problems Higher Order Thinking

1. l‘,@ Persevere with Problems In the figure, BDis
the diagonal of the base and FD is the diagonal
of the figure. Find FD to the nearest tenth.

7.8cm

F G
-~ g\ :
13 : 1 H
s 3
g
i 6cm
%
| \
I \
i \
- /‘é’"“'ﬂ..:-l\ i —3 C
o D cm




12. f‘@}) Find the Error Danielle is writing an equation to find
the length of the third side of the right triangle. Find her
mistake and correct it.

4in.
3in. L

She used the sides given as legs, when

one is a hypotenuse; a? + 32 = 42,

AT

13. 089 Justify Conclusions What does the value of x have to be for the figure
to be classified as a right isosceles triangle? Justify your reasoning. X X
about 7.1 in; Sample answer: The Pythagorean Theorem states that
¢ = a? + b2 Since both legs are x inches, ¢ = 2x*. When you replace | 10in. .

¢ with 10 and simplify, x = 7.1.

14. @ Justify Conclusions The hypotenuse of a right triangle is
23 centimeters long. Find possible measures for the legs of the triangle.
Round to the nearest hundredth. Justify your answer.

Sample answer: 15 cm and 17.44 cm; 232 = 529 and
152 4+ 17.442 = 529.1536. S0, 232 = 152 + 17.442,



